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Pesucropst
PMII-5 PB 28621399.004 TY 1 MOM 0,03 | —/— | —/— | 300 | 360 |—/— | 0,005 1 —/— $14x30
PMII-5 —f— 10 MOm 0,03 /— | —/— | 1000 | 1200 | —/— | 0,005 1 —— 614x60
PMII-5 —f— 100 kOm 0,03 | —/— | —/— | 100 120 | —/— | 0,001 1 —— 614x30
PMII-5 —f— 50 kOm 0,03 | —/— | —/— | 70 250 | —/—| 0,002 1 —— $14x30
Henvrenu
HPMII-7/1 PB28621399002TY 100 kOMm +10xOM 0,1 2 0,03 | 400 480 5 0,003 1 Jo 20 xI' 414x60
PaBHOMEPHO | Ka)KI0TO
0,1% pe3HucT.
HPMII-7/2 PB28621399002TY 100kOM+100xkOm +100xkOM | 0,1 1,5;3 | 0,03 | 600 720 5 0,003 1 —— ——
1,25;
HPMII-7/5 PB28621399003TY 100+100+100+100+100(xO 0,1 1,666; | 0,03 | 1000 | 1200 5 0,003 1 —— ——
M) 2,5;
5,0
HPMII-3 | YVCHU:I11434313006 TY 100 kOM +9900xOM 100 0,5 | 1000 | 1200 5 0,002 1 — $14x60
HPMII-5A | VIIIAL434313006TY | 100+3300+3300+3300(xOm) | 0,1 100; | 0,05 | 1000 | 1200 1 0,002 | 0,2 —— $14x60
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